


* get file crsleq31.sav.
MISSING VALUES AGE (999).
MISSING VALUES SEX TO HEALTH (9).
REGRESSION
    DESCRIPTIVES=MEAN STDDEV CORR N
    /VARIABLES = worth leisur feelg satisf
    /STATISTICS = R COEFF ANOVA OUTS ZPP CHA
    /MISSING = PAIRWISE
    /DEPENDENT=worth
    /METHOD=ENTER SATISF FEELG LEISUR.



Regression




[DataSet1] Q:\RDDA\CRSLEQ31.SAV



	Descriptive Statistics

	
	Mean
	Std. Deviation
	N

	worth
	4.21
	2.564
	168

	leisur
	4.41
	2.293
	167

	feelg
	4.13
	2.410
	167

	satisf
	4.21
	2.271
	163




	Correlations

	
	worth
	leisur
	feelg
	satisf

	Pearson Correlation
	worth
	1.000
	.504
	.563
	.518

	
	leisur
	.504
	1.000
	.503
	.475

	
	feelg
	.563
	.503
	1.000
	.488

	
	satisf
	.518
	.475
	.488
	1.000

	N
	worth
	168
	165
	166
	162

	
	leisur
	165
	167
	164
	161

	
	feelg
	166
	164
	167
	160

	
	satisf
	162
	161
	160
	163




	Model Summary

	Model
	R
	R Square
	[bookmark: _GoBack]Adjusted R Square
	Std. Error of the Estimate
	Change Statistics

	
	
	
	
	
	R Square Change
	F Change
	df1
	df2
	Sig. F Change

	1
	.653a
	.426
	.415
	1.961
	.426
	38.618
	3
	156
	.000

	a. Predictors: (Constant), satisf, leisur, feelg




	Coefficientsa

	Model
	Unstandardized Coefficients
	Standardized Coefficients
	t
	Sig.
	Correlations

	
	B
	Std. Error
	Beta
	
	
	Zero-order
	Partial
	Part

	1
	(Constant)
	.487
	.385
	
	1.265
	.208
	
	
	

	
	leisur
	.243
	.082
	.217
	2.950
	.004
	.504
	.230
	.179

	
	feelg
	.351
	.079
	.330
	4.441
	.000
	.563
	.335
	.269

	
	satisf
	.286
	.082
	.254
	3.476
	.001
	.518
	.268
	.211

	a. Dependent Variable: worth
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